Honors Math 11 NAME:

After Unit 2 test: Interval Notation, Domain & Range Period: Date:

Put in interval notation and draw a graph of each inequality.

1. x=>4 0 1.
2. x<6 0 2.
3. x<-2 0 3

A
v

Write each interval as an inequality.

4, (-o0,-8] 4,
5. [5, ) 5.
6. (-2, ) 6.
7. [-10, o) 7.
8. (-,6) 8.

Write interval notation that describes the graph.

9 9
< M >
1 5
10.
10. < M >
2 7
11. < O—l > 11.




12. Complete the table below by filling in the missing information in each row.

Inequality Graph Interval Notation
4
x > 12.5 < Pt 2>
- [—1,4]
—-200 < x < 200 -t
-ttt (0 E)
"2
x % 5 >
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13.

14.

15.

16.

17.

Is 4 in the set (4, 5)?
Is 3.333 in the set (2, ©)?

Is 3 in the set (-, 3]?

[s 3.9999999 in the set (-0, 4)?

Is 6 in the set (-00, 6) U (6, 0)?




Find the domain and range of each graph using interval notation.

18. 19. 20. My
4 4 °
oY lky | '
4 2 -1 ) A3 VARS
3 N s
1 X 4
2 g 5
Domain: Domain: Domain:
Range: Range: Range:
21. 22. 23.
y
X : 2
) o NIZERN
2 -1 ] 3 X \ N\ X
1 1 ; » G X 2 1y NI
2 Jr N A
3 - 3
Domain: Domain: Domain:
Range: Range: Range:
Find the domain and range of each graph using inequality notation.
24. 4 25. ' 26. '
3ky 3t 5
5 4
1 /\ 3
1
2 2 1 3 ! x
M - -1 2 3 45
-5 -2 -1
6 3 -2
Domain:
Range: Domain: Domain:
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27. 28. 4 29. 8|
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1 | e T R]
X NS :
1 [~ A a1 N 3 47 M [
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Draw a function that satisfies the give domain and range.
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